Certain Subclasses of Analytic Multivalent Functions using Generalized Differential Operator

G. Thirupathi

(Department of Mathematics, Ayya Nadar Janaki Ammal College, Sivakasi - 626 124, Tamilnadu, India.)

Abstract : In this paper, we define a new subclass of analytic multivalent functions using generalized Salagean differential operator. Coefficient inequalities, sufficient condition, distortion theorems, radii of starlikeness, convexity and close - to - convexity results are obtained.

 Keywords - Coefficient inequalities, Hadamard product, Multivalent functions, Salagean operator.

 Date of Submission: 18-05-2018

 Date of acceptance: 04-06-2018

I. INTRODUCTION

Let A denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \qquad a_k \ge 0,$$
 (1.1)

which are analytic in the open disc $U = U_1$.

Let S be the subclass of A consisting of functions which are univalent in U. We denote by S^* , C,

K and C^{*} the familiar subclasses of A consisting of functions which are respectively starlike, convex, close-toconvex and quasi-convex in U. Our favorite references of the field are [1, 2, 3] which covers most of the topics in a lucid and economical style. The concept of starlike functions and convex functions were further extended as follows:

$$\mathbf{S}^{*}(\alpha) = \left\{ f \in \mathbf{A} : Re\left(\frac{zf'(z)}{f(z)}\right) > \alpha, z \in \mathbf{U} \right\},\tag{1.2}$$

$$\mathbf{C}(\alpha) = \left\{ f \in \mathbf{A} : Re\left(1 + \frac{zf^{''}(z)}{f^{'}(z)}\right) > \alpha, z \in \mathbf{U} \right\}.$$
(1.3)

We note that

$$f \in \mathbf{C}(\alpha) \Leftrightarrow zf' \in \mathbf{S}^*(\alpha), \tag{1.4}$$

where $S^*(\alpha)$ and $C(\alpha)$ are respectively, the classes of starlike of order α and convex of order α in U. (see Robertson [4]).

Similarly, close-to convex functions and quasi-convex functions were further extended as follows:

$$\mathbf{K}(\alpha,\beta) = \left\{ f \in \mathbf{A} : Re\left(\frac{zf'(z)}{g(z)}\right) > \alpha, \ g \in \mathbf{S}^*(\beta), \ z \in \mathbf{U} \right\},$$
(1.5)

Let A_p be the class of functions analytic in the open unit disc $U = \{z : |z| < 1\}$ of the form

$$f(z) = z^{p} + \sum_{k=1}^{\infty} a_{k+p} z^{k+p} \quad (p \ge 1)$$
(1.6)

and let $A = A_1$.

A function $f(z) \in A_p$ is said to be k - uniformly p - valent starlike of order $\delta(-p < \delta < p)$, $k \ge 0$ and $z \in U$ denoted by $k - UST(p, \delta)$, if and only if

$$Re\left\{\frac{zf'(z)}{f(z)} - \delta\right\} \ge k \left|\frac{zf'(z)}{f(z)} - p\right|$$

A function $f(z) \in A_p$ is said to be k - uniformly p - valent convex of order $\delta(-p < \delta < p)$, $k \ge 0$ and $z \in U$ denoted by $k - UCV(p, \delta)$, if and only if

$$Re\left\{1 + \frac{zf^{''}(z)}{f^{'}(z)} - \delta\right\} \ge k \left|1 + \frac{zf^{''}(z)}{f^{'}(z)} - p\right|$$

For the functions f(z) of the form (1.6) and $g(z) = z^p + \sum_{k=1}^{\infty} b_{k+p} z^{k+p}$, the Hadamard product (or

convolution) of f and g is defined by

$$(f * g)(z) = z^{p} + \sum_{n=1}^{\infty} a_{n+p} b_{n+p} z^{n+p}.$$

Let f(z) and g(z) be analytic in U. Then we say that the function f(z) is subordinate to g(z) in U, if there exists an analytic function w(z) in U such that $|w(z)| \le |z|$ and f(z) = g(w(z)), denoted by $f(z) \le g(z)$. If g(z) is univalent in U, then the subordination is equivalent to f(0) = g(0) and $f(U) \subseteq g(U)$.

Differentiating both sides of (1.6), q times with respect to z

$$f^{(q)}(z) = \frac{p!}{(p-q)!} z^{p-q} + \sum_{k=1}^{\infty} \frac{(k+p)!}{(k+p-q)!} a_{k+p} z^{k+p-q}, \qquad (1.7)$$
$$(p \ge 1; q \in \Box_0 = \Box \cup 0; p > q).$$

We show by $A_p(q)$ the class of functions of the form (1.7) which are analytic and p - valent in U.

Using the Salagean derivative operator [5], recently Halit Orhan [6] defined the function class as follows:

$$D^{n}f^{(q)}(z) = \frac{p!}{(p-q)!}z^{p-q} + \sum_{k=1}^{\infty} \frac{(k+p-q)^{n}(k+p)!}{(p-q)^{n}(k+p-q)!}a_{k+p}z^{k+p-q}.$$
(1.8)

Let T_p denote the subclass of $f \in A_p$ consisting of functions of the form

$$f(z) = z^{p} - \sum_{k=1}^{\infty} a_{k+p} z^{k+p} \quad (p \ge 1 \quad and \quad a_{k+p} \ge 0),$$
(1.9)

which are p - valent in U.

II. DEFINITIONS AND PRELIMINARIES

Definition 2.1: For any non-zero complex number λ , $0 \le \alpha < 1$ and $\beta \ge 0$, a function $f \in A_p$ is said to be in the class $A_p^{p,q}(\beta,\lambda,\alpha)$ if and only if it satisfies the following condition:

$$Re\left\{\frac{\lambda D^{n+1}f^{(q)}(z)}{D^{n}f^{(q)}(z)} - (\lambda - 1)\right\} > \beta \left|\frac{\lambda D^{n+1}f^{(q)}(z)}{D^{n}f^{(q)}(z)} - \lambda\right| + \alpha.$$
(2.1)

Remark 2.1: By specializing the parameters we get the following well-known results: (1) If we let q = 0, then the above inequality (2.1), reduces to

$$Re\left\{\frac{\lambda D^{n+1}f(z)}{D^n f(z)} - (\lambda - 1)\right\} > \beta \left|\frac{\lambda D^{n+1}f(z)}{D^n f(z)} - \lambda\right| + \alpha.$$

(2) If we choose q = 0, $\lambda = 2$, p = 1 and n = 1 in (2.1) then the function class $A_n^{p,q}(\beta,\lambda,\alpha)$ reduces to the class $\beta - UCV(\alpha)$ of functions $f \in A$ satisfying the condition

$$Re\left\{\frac{\left(zf'(z)\right)'}{f'(z)}\right\} > \beta\left|\frac{\left(zf'(z)\right)'}{f'(z)}\right| + \alpha.$$

The class $\beta - UCV(\alpha)$ was introduced and studied by R. Bharathi et. al. [7].

Also we define the class $T_n^{p,q}(\beta,\lambda,\alpha)$ by

$$\mathbf{T}_{n}^{p,q}(\boldsymbol{\beta},\boldsymbol{\lambda},\boldsymbol{\alpha}) = A_{n}^{p,q}(\boldsymbol{\beta},\boldsymbol{\lambda},\boldsymbol{\alpha}) \cap \mathbf{T}_{p}.$$

Motivated by the concept introduced by Halit Orhan [6] and various authors in [8, 9], we introduce the new subclass of analytic p - valent function using Salagean operators. We obtain coefficient estimates, distortion bounds and radii of starlikeness for the above said function classes.

III. SUFFICIENT CONDITION

In this section, we find the sufficient condition for our function class $T_n^{p,q}(\beta,\lambda,\alpha)$. **Theorem 3.1:** A function f(z) defined by (1.9) is in $T_n^{p,q}(\beta,\lambda,\alpha)$ if and only if

$$\sum_{k=1}^{\infty} \left[(1-\alpha) + \lambda k (1+\beta) (p-q)^{-1} \right] \psi(k) a_{k+p} = \frac{(1-\alpha)p!}{(p-q)!},$$
(3.1)

where $\psi(k) = \frac{(k+p-q)^{n}(k+p)!}{(p-q)^{n}(k+p-q)!}$.

Proof: By definition $f(z) \in T_n^{p,q}(\beta,\lambda,\alpha)$ if and only if the condition (2.1) satisfied. Using the fact that

$$Re\left\{\lambda w - (\lambda - 1)\right\} = \beta \left|\lambda(w - 1)\right| + \alpha$$

$$\Leftrightarrow Re\left\{\left(\lambda w - (\lambda - 1)\right)\left(1 + \beta e^{i\theta}\right) - \beta e^{i\theta}\right\} > \alpha, \quad -\pi \le \theta < \pi.$$
(3.2)

Using (3.2), equation (2.1) can be written as

$$\operatorname{Re}\left\{\left(\frac{\lambda D^{n+1}f^{(q)}(z)}{D^{n}f^{(q)}(z)}-(\lambda-1)\right)\left(1+\beta e^{i\theta}\right)-\beta e^{i\theta}\right\}>\alpha,$$

equivalently,

$$Re\left\{\left(\frac{\lambda D^{n+1}f^{(q)}(z) - (\lambda - 1)D^{n}f^{(q)}(z)}{D^{n}f^{(q)}(z)}\right)\left(1 + \beta e^{i\theta}\right) - \frac{\beta e^{i\theta}D^{n}f^{(q)}(z)}{D^{n}f^{(q)}(z)}\right\} > \alpha.$$
(3.3)

Let $G(z) = \lfloor \lambda D^{n+1} f^{(q)}(z) - (\lambda - 1) D^n f^{(q)}(z) \rfloor (1 + \beta e^{i\theta}) - \beta e^{i\theta} D^n f^{(q)}(z)$ and let $H(z) = D^n f^{(q)}(z)$. Then the above equation is equivalent to

 $\left| G(z) + (1-\alpha)H(z) \right| > \left| G(z) - (1+\alpha)H(z) \right|, \quad for \quad 0 \le \alpha < 1.$

For G(z) and H(z) as above, we have

$$\begin{aligned} \left| G(z) + (1-\alpha)H(z) \right| &= \left| \frac{(2-\alpha)p!}{(p-q)!} z^{p-q} - \sum_{k=1}^{\infty} \left[(2-\alpha) + \lambda k(p-q)^{-1} \right] \psi(k) a_{k+p} z^{k+p-q} \\ &- \lambda \beta e^{i\theta} \sum_{k=1}^{\infty} k(p-q)^{-1} \psi(k) a_{k+p} z^{k+p-q} \right| \\ &\geq \frac{(2-\alpha)p!}{(p-q)!} |z|^{p-q} - \sum_{k=1}^{\infty} \left[(2-\alpha) + \lambda k(1+\beta)(p-q)^{-1} \right] \psi(k) a_{k+p} |z|^{k+p-q} \end{aligned}$$

Similarly,

$$G(z) - (1+\alpha)H(z) \Big| < \frac{\alpha p!}{(p-q)!} \Big| z \Big|^{p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big| z \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big|^{k+p-q} + \sum_{k=1}^{\infty} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p} \Big[\alpha - \lambda k (1+\beta)(p-q)^{-1} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p} \Big] \psi(k) a_{k+p$$

Now

$$\left|G(z) + (1-\alpha)H(z)\right| - \left|G(z) - (1+\alpha)H(z)\right|$$

Certain Subclasses of Analytic Multivalent Functions using Generalized Differential Operator

$$\geq \frac{2(1-\alpha)p!}{(p-q)!} |z|^{p-q} - 2\sum_{k=1}^{\infty} \left[(1-\alpha) + \lambda k(1+\beta)(p-q)^{-1} \right] \psi(k) a_{k+p} |z|^{k+p-q} \geq 0.$$

Or equivalently,

$$\sum_{k=1}^{\infty} \left[(1-\alpha) + \lambda k (1+\beta) (p-q)^{-1} \right] \psi(k) a_{k+p} \le \frac{(1-\alpha)p!}{(p-q)!}$$

which is the required assertion of the Theorem 3.1. On the other and, we must have

$$Re\left\{\left(\frac{\lambda D^{n+1}f^{(q)}(z)}{D^{n}f^{(q)}(z)}-(\lambda-1)\right)\left(1+\beta e^{i\theta}\right)-\beta e^{i\theta}\right\}>\alpha, \qquad -\pi\leq\theta<\pi.$$

Upon choosing the values of z on the positive real axis where $0 \le |z| = r < 1$, the above inequality reduces to

$$Re\left\{\frac{\frac{(1-\alpha)p!}{(p-q)!} - \sum_{k=1}^{\infty} \frac{\lambda k + (1-\alpha)}{(p-q)} \psi(k) a_{k+p} r^{k} - \lambda \beta e^{i\theta} \sum_{k=1}^{\infty} k(p-q)^{-1} \psi(k) a_{k+p} r^{k}}{\frac{p!}{(p-q)!} - \sum_{k=1}^{\infty} \psi(k) a_{k+p} r^{k}}\right\} \ge 0.$$

Since $Re(-e^{i\theta}) \ge -\left|e^{i\theta}\right| = -1$, then the above inequality gives

$$Re\left\{\frac{\frac{(1-\alpha)p!}{(p-q)!} - \sum_{k=1}^{\infty} \frac{\lambda k + (1-\alpha)}{(p-q)} \psi(k) a_{k+p} r^{k} + \lambda \beta e^{i\theta} \sum_{k=1}^{\infty} k(p-q)^{-1} \psi(k) a_{k+p} r^{k}}{\frac{p!}{(p-q)!} - \sum_{k=1}^{\infty} \psi(k) a_{k+p} r^{k}}\right\} \ge 0.$$

Letting $r \to 1^-$, we get the desired result.

Finally, the function f(z) given by

$$f(z) = z^{p} - \frac{(1-\alpha)p!}{(p-q)! [(1-\alpha) + \lambda k (1+\beta)(p-q)^{-1}] \psi(k)} z^{p+1}$$
(3.4)

is an extremal function for the assertion of the Theorem 3.1.

Corollary 3.2: If $f(z) \in T_n^{p,q}(\beta,\lambda,\alpha)$, then

$$a_{k+p} \le \frac{(1-\alpha)p!}{(p-q)! \left[(1-\alpha) + \lambda k (1+\beta)(p-q)^{-1} \right] \psi(k)}.$$
(3.5)

Equality being attained for the function f(z) given by (3.4).

IV. GROWTH AND DISTORTION THEOREMS

Theorem 4.1: Let the function f(z) defined by (1.9) be in the class $T_n^{p,q}(\beta,\lambda,\alpha)$. Then for |z| = r, we have

$$r^{p} - \frac{(1-\alpha)p!}{(p-q)! \left[(1-\alpha) + \lambda(1+\beta)(p-q)^{-1} \right] \psi(1)} r^{p+1} \le \left| f(z) \right| \le$$

$$r^{p} + \frac{(1-\alpha)p!}{(p-q)! \left[(1-\alpha) + \lambda(1+\beta)(p-q)^{-1} \right] \psi(1)} r^{p+1}.$$
(4.1)

Proof: Given that f(z) in $T_n^{p,q}(\beta,\lambda,\alpha)$, from the equation (3.1), we have

$$\left[(1-\alpha) + \lambda(1+\beta)(p-q)^{-1} \right] \psi(1) \sum_{k=1}^{\infty} a_{k+p} \leq \sum_{k=1}^{\infty} \left[(1-\alpha) + \lambda k(1+\beta)(p-q)^{-1} \right] \psi(k) a_{k+p}$$

$$\leq \frac{(1-\alpha)p!}{(p-q)!}$$

$$(4.2)$$

which implies

$$\sum_{k=1}^{\infty} a_{k+p} \le \frac{(1-\alpha)p!}{(p-q)! \left[(1-\alpha) + \lambda(1+\beta)(p-q)^{-1} \right] \psi(1)} a_{k+p}.$$
(4.3)

Using (1.9) and (4.3), we obtain

$$|f(z)| \leq |z|^{p} + \sum_{k=1}^{\infty} a_{k+p} |z|^{k+p}$$

$$\leq r^{p} + \sum_{k=1}^{\infty} a_{k+p} r^{k+p}$$

$$\leq r^{p} + \frac{(1-\alpha)p!}{(p-q)! [(1-\alpha) + \lambda(1+\beta)(p-q)^{-1}] \psi(1)} r^{p+1}.$$
(4.4)

Similarly,

$$|f(z)| \ge r^{p} - \frac{(1-\alpha)p!}{(p-q)! [(1-\alpha) + \lambda(1+\beta)(p-q)^{-1}]\psi(1)} r^{p+1},$$
(4.5)

which proves the assertion (4.1).

Theorem 4.2: Let the function f(z) defined by (1.9) be in the class $T_n^{p,q}(\beta,\lambda,\alpha)$. Then for |z| = r, we have

$$pr^{p-1} - \frac{(1-\alpha)p!(1+p)}{(p-q)![(1-\alpha)+\lambda(1+\beta)(p-q)^{-1}]\psi(1)}r^{p} \le |f'(z)| \le pr^{p-1} + \frac{(1-\alpha)p!(1+p)}{(p-q)![(1-\alpha)+\lambda(1+\beta)(p-q)^{-1}]\psi(1)}r^{p}.$$
(4.6)

Proof: We have

$$f'(z) = pz^{p-1} + \sum_{k=1}^{\infty} (k+p)a_{k+p}z^{k+p-1},$$
(4.7)

which implies

$$\begin{split} |f'(z)| &\leq p \left| z \right|^{p-1} + \sum_{k=1}^{\infty} (k+p) a_{k+p} \left| z \right|^{k+p-1} \\ &\leq p r^{p-1} + \sum_{k=1}^{\infty} (k+p) a_{k+p} r^{k+p-1} \\ &\leq p r^{p-1} + \frac{(1-\alpha) p ! (1+p)}{(p-q)! \left[(1-\alpha) + \lambda (1+\beta) (p-q)^{-1} \right] \psi(1)} r^{p}. \end{split}$$

$$(4.8)$$

Similarly, we get,

$$|f'(z)| \ge pr^{p-1} - \frac{(1-\alpha)p!(1+p)}{(p-q)![(1-\alpha)+\lambda(1+\beta)(p-q)^{-1}]\psi(1)}r^{p}.$$
(4.9)

This completes the proof of Theorem 4.2.

If we let n = 0 in the above results, we get the following corollary: Corollary 4.3: If $f \in T_0^{p,q}(\beta,\lambda,\alpha)$, then for |z| = r,

$$r^{p} - \frac{(1-\alpha)(p-q)(p-q+1)}{\left[(1-\alpha)(p-q) + \lambda(1+\beta)\right](p+1)} r^{p+1} \le |f(z)| \le r^{p} + \frac{(1-\alpha)(p-q)(p-q+1)}{\left[(1-\alpha)(p-q) + \lambda(1+\beta)\right](p+1)} r^{p+1}$$

and

$$pr^{p-1} - \frac{(1-\alpha)(p-q)(p-q+1)}{\left[(1-\alpha)(p-q) + \lambda(1+\beta)\right]}r^{p} \leq |f'(z)| \leq pr^{p-1} + \frac{(1-\alpha)(p-q)(p-q+1)}{\left[(1-\alpha)(p-q) + \lambda(1+\beta)\right]}r^{p}. \quad \Box$$

If we let q = 0 in the above corollary, we get

Corollary 4.4: If $f \in \mathbf{T}_{0}^{p,0}(\beta,\lambda,\alpha)$, then for |z| = r,

$$r^{p} - \frac{(1-\alpha)p}{\left[(1-\alpha)p + \lambda(1+\beta)\right]}r^{p+1} \le \left|f(z)\right| \le r^{p} + \frac{(1-\alpha)p}{\left[(1-\alpha)p + \lambda(1+\beta)\right]}r^{p+1}$$

and

$$pr^{p-1} - \frac{(1-\alpha)p(p+1)}{\left[(1-\alpha)p + \lambda(1+\beta)\right]}r^{p} \le \left|f'(z)\right| \le pr^{p-1} + \frac{(1-\alpha)p(p+1)}{\left[(1-\alpha)p + \lambda(1+\beta)\right]}r^{p}.$$

V. Radii Of Starlikeness, Convexity And Close-To-Convexity

In this section, radii of close - to- convexity, starlikeness and convexity for the function class $T_n^{p,q}(\beta,\lambda,\alpha)$ are discussed.

The real number

$$r_{\rho}^{*}(f) = \sup\left\{r > 0 | Re(k(z)) > \rho \text{ forall } z \in \mathbf{U}_{r}\right\}$$

is called the radius of starlikeness of order ρ of the function f when $k(z) = \frac{zf'(z)}{f(z)}$. Note that

 $r_{\rho}^{*}(f) = r_{0}^{*}(f)$ is in fact the largest radius such that the image region $f(U_{r}^{*}(f))$ is a starlike domain with respect to the origin. Similar definition is used to define radius of convexity and close to convexity by equivalently replacing k(z) with $1 + \frac{zf''(z)}{f'(z)}$ and $\frac{f'(z)}{g'(z)}$ respectively. For the study of various radius problems, we refer to [10, 11, 12, 13, and 14].

Theorem 5.1: Let the function f(z) defined by (1.9) be in the class $T_n^{p,q}(\beta,\lambda,\alpha)$. Then f(z) is p-valent starlike of order $\sigma(0 \le \sigma < 1)$ in $|z| < R_1$, where

$$R_{1} = \inf_{k \ge 1} \left\{ \frac{\left[(1-\alpha) + \lambda k (1+\beta) (p-q)^{-1} \right] (p-q)! \psi(k)}{(1-\alpha) p!} \times \left(\frac{p-\sigma}{k+p-\sigma} \right) \right\}^{\frac{1}{k}} \qquad (z \in \mathbf{U}), \qquad (5.1)$$

where, $\psi(k) = \frac{(k+p-q)^{n}(k+p)!}{(p-q)^{n}(k+p-q)!}.$

Proof: Given $f \in T_n^{p,q}(\beta,\lambda,\alpha)$ and f is starlike of order σ , we have

$$\left|\frac{zf'(z)}{f(z)} - p\right|
(5.2)$$

For the left hand side of (5.2), we have

$$\left|\frac{zf'(z)}{f(z)} - p\right| = \left|\frac{pz^{p} - \sum_{k=1}^{\infty} (k+p)a_{k+p}z^{k+p}}{z^{p} - \sum_{k=1}^{\infty} a_{k+p}z^{k+p}} - p\right| \le \frac{\sum_{k=1}^{\infty} ka_{k+p}|z|^{k}}{1 - \sum_{k=1}^{\infty} a_{k+p}|z|^{k}}.$$

The last expression is less than $(p - \sigma)$ if

$$\frac{\sum_{k=1}^{\infty} k a_{k+p} \left| z \right|^{k}}{1 - \sum_{k=1}^{\infty} a_{k+p} \left| z \right|^{k}}$$

which implies

$$\sum_{k=1}^{\infty} \frac{k+p-\sigma}{p-\sigma} a_{k+p} \left| z \right|^k < 1.$$

Using the fact that, $f \in T_n^{p,q}(\beta,\lambda,\alpha)$ if and only if

$$\sum_{k=1}^{\infty} \frac{\left[(1-\alpha) + \lambda k (1+\beta) (p-q)^{-1} \right] (p-q)! \psi(k)}{(1-\alpha) p!} a_{k+p} \le 1.$$

We can say that (5.2) is true if

$$\frac{k+p-\sigma}{p-\sigma} \left|z\right|^{k} \leq \frac{\left[(1-\alpha)+\lambda k(1+\beta)(p-q)^{-1}\right](p-q)!\psi(k)}{(1-\alpha)p!}.$$
$$\Rightarrow \left|z\right|^{k} \leq \frac{\left[(1-\alpha)+\lambda k(1+\beta)(p-q)^{-1}\right](p-q)!\psi(k)}{(1-\alpha)p!} \left(\frac{p-\sigma}{k+p-\sigma}\right).$$

The last inequality leads us immediately to the disc $|z| < R_1$, where R_1 is given by (5.1).

Theorem 5.2: Let the function f(z) defined by (1.9) be in the class $T_n^{p,q}(\beta,\lambda,\alpha)$. Then f(z) is p-valent close - to - convex of order $\sigma(0 \le \sigma < 1)$ in $|z| < R_2$, where

$$R_{2} = \inf_{k \ge 1} \left\{ \frac{\left[(1-\alpha) + \lambda k (1+\beta)(p-q)^{-1} \right] (p-q)! \psi(k)}{(1-\alpha)p!} \times \left(\frac{p-\sigma}{k+p} \right) \right\}^{\frac{1}{k}} \qquad (z \in \mathbf{U}), \qquad (5.3)$$

where, $\psi(k) = \frac{(k+p-q)^{n}(k+p)!}{(p-q)^{n}(k+p-q)!}.$

Proof: Given $f \in T_n^{p,q}(\beta,\lambda,\alpha)$ and f is p-valent close - to - convex of order σ , we have

$$\left|\frac{f'(z)}{z^{p-1}} - p\right|
(5.4)$$

For the left hand side of (5.4), we have

$$\left|\frac{f'(z)}{z^{p-1}} - p\right| = \left|\frac{pz^{p-1} - \sum_{k=1}^{\infty} (k+p)a_{k+p}z^{k+p-1}}{z^{p-1}} - p\right| \le \sum_{k=1}^{\infty} (k+p)a_{k+p}|z|^{k}.$$

The last expression is less than $(p-\sigma)$ if

$$\sum_{k=1}^{\infty} (k+p) a_{k+p} \left| z \right|^k$$

which implies

$$\sum_{k=1}^{\infty} \frac{k+p}{p-\sigma} a_{k+p} \left| z \right|^k < 1.$$

Using the fact that, $f \in T_n^{p,q}(\beta,\lambda,\alpha)$ if and only if

$$\sum_{k=1}^{\infty} \frac{\left[(1-\alpha) + \lambda k (1+\beta) (p-q)^{-1} \right] (p-q)! \psi(k)}{(1-\alpha) p!} a_{k+p} \le 1.$$

We can say that (5.4) is true if

$$\frac{k+p}{p-\sigma}|z|^{k} \leq \frac{\left[(1-\alpha)+\lambda k(1+\beta)(p-q)^{-1}\right](p-q)!\psi(k)}{(1-\alpha)p!}.$$
$$\Rightarrow |z|^{k} \leq \frac{\left[(1-\alpha)+\lambda k(1+\beta)(p-q)^{-1}\right](p-q)!\psi(k)}{(1-\alpha)p!} \left(\frac{p-\sigma}{k+p}\right).$$

The last inequality leads us immediately to the disc $|z| < R_2$, where R_2 is given by (5.3).

Theorem 5.3: Let the function f(z) defined by (1.9) be in the class $T_n^{p,q}(\beta,\lambda,\alpha)$. Then f(z) is p-valent convex of order $\sigma(0 \le \sigma < 1)$ in $|z| < R_3$, where

$$R_{3} = \inf_{k \ge 1} \left\{ \frac{\left[(1-\alpha) + \lambda k (1+\beta)(p-q)^{-1} \right] (p-q)! \psi(k)}{(1-\alpha)p!} \times \left(\frac{p(p-\sigma)}{(k+p)(k+p-\sigma)} \right) \right\}^{\frac{1}{k}} \qquad (z \in \mathbf{U}), \qquad (5.5)$$

where,
$$\psi(k) = \frac{(k+p-q)(k+p)!}{(p-q)^n(k+p-q)!}.$$

Proof: To prove (5.5), it is sufficient to show that

$$\left| \left(1 + \frac{z f''(z)}{f'(z)} \right) - 1 \right| \le 1 - \sigma.$$

The proof is omitted, since we use a similar proof of Theorem 5.2.

REFERENCES

- [1]. Peter L Duren, Univalent functions. Grundlehren der Mathematischen Wissenschaften [Fundamental Principles of Mathematical Sciences], 259. Springer-Verlag, New York, 1983.
- A. W. Goodman, Univalent functions. Vol. I. Mariner Publishing Co., Inc., Tampa, FL, 1983.
 Ian Graham, Gabriela Kohr, Geometric function theory in one and higher dimensions. Monographs and Textbooks in Pure and Applied Mathematics, 255. Marcel Dekker, Inc., New York, 2003.
- [4]. M I Robertson, On the theory of univalent functions, Ann. of Math. (2) 37 1936, no. 2, 374--408.
- [5]. G S Salagean, Subclasses of univalent functions. Complex analysis—fifth Romanian-Finnish seminar, Part 1 (Bucharest, 1981), 362--372, Lecture Notes in Math., 1013, Springer, Berlin, 1983.
- [6]. Halit Orhan, Halit, $(\alpha, \beta, \lambda, \delta, m, \Omega)_p$ neighborhood for some families of analytic and multivalent functions. An. Stiint. Univ. "Ovidius" Constanta Ser. Mat. 23, 2015, no. 1, 225--236.
- [7]. R. Bharati, R. Parvatham, A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, Tamkang J. Math. 28, 1997, no. 1, 17--32.
- [8]. Phulambrikar Arunkumar Prabhakarrao and Trishia Avinash Metha, Problems of Geometric function theory on a p valent starlike functions with negative coefficient defined by salagean operators, Weekly science international journal, Vol 1, issue 10, 2013.
- [9] C. Selvaraj. C and G. Thirupathi, On a certain class of multivalent uniformly convex functions using differintegral operator, Global Journal of Pure and Applied Mathematics, Vol.11, 2015, No.4, 1917--1933.
- W.M. Causey, E.P. Merkes, Radii of starlikeness of certain classes of analytic functions, J. Math. Anal. Appl., 31, 1970, pp. 579-586.
 T H MacGregor, The radius of univalence of certain analytic functions, Proc. Amer. Math. Soc., 14, 1963, 514--520.
- T H MacGregor, The radius of univalence of certain analytic functions, Proc. Amer. Math. Soc., 14, 1963, 514--520.
 T H MacGregor, The radius of univalence of certain analytic functions. II. Proc Amer. Math. Soc., 14, 1963, 521--524.
- [12]. M I Robertson, Some radius of convexity problems, Michigan Math. J. 10, 1963, 231--236.
- [14]. D E Tepper, On the radius of convexity and boundary distortion of Schlicht functions, Trans. Amer. Math. Soc. 150, 1970, 519--528.

G. Thirupathi "Certain Subclasses of Analytic Multivalent Functions using Generalized Differential Operator "International Journal of Engineering Science Invention (IJESI), vol. 07, no. 06, 2018, pp 43-50
